Math 120 Spring 2019-2020 4

Section: 161 Nam Sur ne V,I
Quiz no.: 01 ID Nun V ,’
Date: 21.02.20

Time Limit: ~10 Minutes l rade:

Declaration of Honesty: By signing below, I pledge that I will write this examination as my own work
and without the assistance of others or the usage of unauthorized material or information. I understand
that possession of any kind of electronic device during the exam is prohibited. I also understand that not
obeying the rules of the examination will result in immediate cancellation and disciplinary procedures.
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Section: 62

Math 120 Spring 2019-2020
Quiz no.: 01

Date: 21.02.20

Time Limit: ~10 Minutes

Declaration of Honesty: By signing below, I pledge that I will write this exa

Name & Surn
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tion as my own work

and without the assistance of others or the usage of unauthorized material or information. I understand
that possession of any kind of electronic device during the exam is prohibited. I also understand that not

obeying the rules of the examination will result in immediate cancellation and disciplinary procedures.
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Sect ion:62 Nam urname:

Math 120 Spring 2019-2020
Quiz no.: 02

Date: 28.02.20

Time Limit: ~10 Minutes

Declaration of Honesty: By signing below, I pledge that
assistance of others or the usage of unauthorized materj
electronic device during the exam is prohibited. I als
in immediate cancellation and disciplinary procedures.

write this examination as my own work and without the
information. I understand that possession of any kind of
nderstand that not obeying the rules of the examination will result
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Section: 161

Math 120 Spring 2019-2020

Name & Surname

U

Quiz no.: 02 ID Nu
Date: 06.03.20
Time Limit: ~10 Minutes Grade:

Declaration of Honesty: By signing below, I pledge that I will write this examination as my own work and without the
assistance of others or the usage of unauthorized material or information. I understand that possession of any kind of
electronic device during the exam is prohibited. I also understand that not obeying the rules of the examination will result
in immediate cancellation and disciplinary procedures.

Signature :
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